Title: Curb, Gutter & Sidewalk Repair including Tree Removal & Stump Grinding & Installation of Concrete Curb Ramps at Miscellaneous Locations (2022-2023) in Antioch, CA (P.W. 507-19)

Bids to be received by 2:00 p.m. August 30, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Itėm No.	Unit	Description	Unit Price	Extended Amount
1.	1,000 LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$37	\$ 8.706
2.	5,500 SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$28,50	\$ 156.2
3.	1,000 SF	Remove and Replace Concrete Driveway Approach, complete in place for the unit price per square foot	\$29.50	\$ 29500
4.	1,000 SF	Construct Concrete Curb Ramp, complete in place for the unit price per square foot	\$25.50	\$ 25,50t
5.	500 SF	Remove and Replace Concrete Valley Gutter, complete in place for the unit price per square foot	\$ 12	\$6,000
6.	, 4 EA	Modify Storm Drain Catch Basin Top, complete in place for the unit price per each	\$1600	\$ 6,400
7.	400 SF	Install Stamped Colored Concrete, complete in place for the unit price per square foot	\$ //	\$4,400
8.	1,300 IN	Tree Removal with Stump Grinding, complete in place for the unit price per inch tree circumference	\$ 19.50	\$ 25.750
		TOTAL BID PRICE	\$ 340,0	900
	TOTAL	DID DDIOG. There he walked and so deed to cond	1 10 .0	al advan

TOTAL BID PRICE: Three hundred and fourty thousand and nine hundred (Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1.				
2.	-	2		1
3.	3.			1
4.	-		-	
5.				
6.		=		
7.				
8.		IK.	,	
9.				1
10.				
11.				
12.				
13.				
14.				
15.				

END LIST OF SUBCONTRACTORS

Title: Curb, Gutter & Sidewalk Repair including Tree Removal & Stump Grinding & Installation of Concrete Curb Ramps at Miscellaneous Locations (2022-2023) in Antioch, CA (P.W. 507-19) Bids to be received by 2:00 p.m. August 30, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Description	Unit Price	Extended Amount
1.	1,000 LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 70.00	\$70,000
2.	5,500 SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$21.00	\$115,500
3.	1,000 SF	Remove and Replace Concrete Driveway Approach, complete in place for the unit price per square foot	\$26.25	\$ 26, 250
4.	1,000 SF	Construct Concrete Curb Ramp, complete in place for the unit price per square foot	\$48.50	\$ 48,500
5.	500 SF	Remove and Replace Concrete Valley Gutter, complete in place for the unit price per square foot	\$ 25.00	\$ 12,500
6.	4 EA	Modify Storm Drain Catch Basin Top, complete in place for the unit price per each	\$3,800	\$15,200
7.	400 SF	Install Stamped Colored Concrete, complete in place for the unit price per square foot	\$ 25.00	\$ 10,000
8.	1,300 IN	Tree Removal with Stump Grinding, complete in place for the unit price per inch tree circumference	\$ 40.00	\$ 52,000
		TOTAL BID PRICE	\$	349,950

TOTAL BID PRICE: Three hundred forty-nine thousand nine hundred fifty(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Man Howers
Signature of Bidder

Anchor Concrete Construction, Inc Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. NONE				
2.	X			
3,				,
4.		\bigcirc		
5.				
6.				V
7.		\		
8.				
9.				
10.				
11.				
12.		,		
13.		·		No.
14.				1
15.				

END LIST OF SUBCONTRACTORS

Title: Curb, Gutter & Sidewalk Repair including Tree Removal & Stump Grinding & Installation of Concrete Curb Ramps at Miscellaneous Locations (2022-2023) in Antioch, CA (P.W. 507-19)

Bids to be received by 2:00 p.m. August 30, 2022 Office of the City Clerk, City Hall, Antioch, CA

SCHEDULE OF BID PRICES

Item No.	Unit	Description	Unit Price	Extended Amount
1.	1,000 LF	Remove and Replace Concrete Curb and Gutter, complete in place for the unit price per lineal foot	\$ 73.50	\$ 73,500.00
2.	5,500 SF	Remove and Replace Concrete Sidewalk, complete in place for the unit price per square foot	\$ 21.00	\$ 115,500.00
3.	1,000 SF	Remove and Replace Concrete Driveway Approach, complete in place for the unit price per square foot	\$ 24.50	\$ 24,500.00
4.	1,000 SF	Construct Concrete Curb Ramp, complete in place for the unit price per square foot	\$ 43.00	\$ 43,000.00
5.	500 SF	Remove and Replace Concrete Valley Gutter, complete in place for the unit price per square foot	\$ 45.00	\$ 22,500.00
6.	4 EA	Modify Storm Drain Catch Basin Top, complete in place for the unit price per each	\$ 2,950.00	\$ 11,800.00
7.	400 SF	Install Stamped Colored Concrete, complete in place for the unit price per square foot	\$ 29.00	\$ 11,600.00
8.	1,300 IN	Tree Removal with Stump Grinding, complete in place for the unit price per inch tree circumference	\$ 40.00	\$ 52,000.00
		TOTAL BID PRICE	\$ 354,400.00	

TOTAL BID PRICE: Three Hundred Fifty FourThousand Four-Hundred Dollars
(Written in Words)

All costs associated with the work required in the Plans and Specifications must be included in the bid items. This certifies that the prices in the proposal include all work as shown in the Plans and Specifications necessary to complete the work, in place and in full working order.

Signature of Bidder

Mauri Concrete Construction Company

Company Name Printed

LIST OF SUBCONTRACTORS

The Bidder is required to furnish the following information in accordance with the provisions of Sections 4100 to 4114, inclusive, of the Public Contract Code of the State of California. This list and information shall include all subcontractors that will perform work, provide labor or render services to the Bidder in connection with the project in an amount in excess of one-half of one percent of the total amount of Bidder's Total Bid Price.

Do not list alternative subcontractors for the same work. Use additional sheets if necessary.

NAME OF SUBCONTRACTOR	LICENSE NUMBER	DIR REGISTRATION NUMBER	LOCATION OF/ PLACE OF BUSINESS	TYPE & PERCENTAGE OF WORK
1. N/A		-		
2.		,		,
3.				
4.			,	
5.				
6.				
7.				
8.	ř)			
9.				
10.		ı		
11.				
12.	*			
13.				
14.				
15.				

END LIST OF SUBCONTRACTORS